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run_13072008 FGT_ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13072008 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
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run_13072008 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
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run_13072008 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
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run_13072008 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
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run_13072008 FGT_ADC _1,Timebin=2,Disc=2,asmb=2AB
Mon Mar 12 03:36:15 2012

ADC for FGT RDO=1ARM=LAPV=17 _§

1000

2000 3000 4000

raw ADC

[[_ADC for FGT RDO=1.ARM=1.APV=18 |

0 1000 2000 3000 4000

raw ADC

[L_AoC for FoT RDO=1.ARM=1.APV=10 _§
—

3

ADCApFOd

1000

2000 3000 40(

raw ADC

[ ADC for FGT RDO=1,ARM=1,APV=20

3000 4000
raw ADC

ADC for FGT RDO=1ARM=1APV=21 _§

3000 40(
raw ADC

[[ADC for FGT RDO=LARM=LAPV=17_J
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

Py
lw)
O
|
p=
X
<
|

[ ADC for FGT

p=
T
<]
11
=)
|
b

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=1,APV=19 }

1
120
APV channel

= 4000 p—=
] = . . . . . .
2 = 2 2 2 2 2 2
Q 3500 f=—- e e - ..
% =
3000 f=—|- - - - - - - ..
=
2500 f=—1- - - - - - - .-
=
2000 = PR
=
1500 =+ - - - - - - .-
1000 p=—|- - --- - - .-
=
500 f=— e - - - e e ..
=
oE g
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=20 }
= 4000 p—
5] = 5
o = 2
Q 3500 FE—1- {1 aoafbacadbdfoses .
< =
3000 f/—|-{-{-- - PR R B . dboooo
2500 fp=—y-{-{- -1 - PR R 1 P dooas
2000 p/—|-{-1- -+ - R A Y P B
=
1500 f—|-{-1- -t - soobacadbdoace .
1000 P=—|- - {- -t -r-- - dqe b g e
= 2
= 2
500 =t~ - 4= - or e es e p e e s
= 2
[0l el = B I R R ECRs S EEE O B e
= 2
= i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.. Eo.d .l S d 8

10°

10°

10°

10°

10




run_13072008 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
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run_13072008 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB

Mon Mar 12 03:38:47 2012
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run_13072008 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA
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run_13072008 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Mon Mar 12 03:38:14 2012
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run_13072008 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Mon Mar 12 03:38:48 2012

[CADC RMS for RDO=1,ARM=2,APV=0__J
160

120 =

RMS (ADC-ped)

ramy
=
140 =

100
80

60

40

20

OFFFFFFFFFTT 111111'1

0

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=1 "}

200
180 f=
160

RMS (ADC-ped)

140
120 f=

=
100 =
80
60 [
40

20

0

[ ADC RMS for RDO=1,ARM=2,APV=2 "}

180

160

RMS (ADC-ped)

140 [5
120
100 |
80
=
60 p—
40 |

20

0

APV channel

180
160 [+

140

RMS (ADC-ped)

120
10 =
80 =
60

40

20

] -CECEEERNN]

0
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=4 "}

180 v e e F T EEEER R L EE T KEEET T T EE T r R E e en KEEET T T EEr T r R KEEETrE
160 P—

140

RMS (ADC-ped)

120 —
100 P—=
80
60 [

40

20

i
120
APV channel

0




run_13072008 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Mon Mar 12 03:36:24 2012
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run_13072008 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Mon Mar 12 03:38:15 2012
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run_13072008 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Mon Mar 12 03:38:49 2012
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run_13072008 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
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run_13072008 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB
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[ADC MPV for RDO=1ARM=2,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=2,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=2,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=2,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13072008 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
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run_13072008 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
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run_13072008 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB
Mon Mar 12 03:38:16 2012
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run_13072008 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Mon Mar 12 03:38:50 2012
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run_13072008 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Mon Mar 12 03:36:34 2012
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run_13072008 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA

Mon Mar 12 03:38:17 2012
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run_13072008 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Mon Mar 12 03:38:51 2012
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run_13072008 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA

Mon Mar 12 03:36:36 2012
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run_13072008 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Mon Mar 12 03:38:17 2012
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run_13072008 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA

Mon Mar 12 03:38:51 2012
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run_13072008 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Mon Mar 12 03:36:40 2012
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run_13072008 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
Mon Mar 12 03:38:19 2012
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run_13072008 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Mon Mar 12 03:38:52 2012
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run_13072008 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Mon Mar 12 03:36:44 2012
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run_13072008 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB

Mon Mar 12 03:38:20 2012
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run_13072008 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Mon Mar 12 03:38:54 2012
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run_13072008 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Mon Mar 12 03:36:45 2012
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run_13072008 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Mon Mar 12 03:38:20 2012
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run_13072008 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Mon Mar 12 03:38:54 2012
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run_13072008 FGT_RMS 1, Timebin=2,Disc=1,asmb=1CD
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[ ADC for

FGT RDO=2,ARM=0,APV=17 |}

1000 2000 3000 4000
raw ADC

ADC for

FGT RDO=2,ARM=0,APV=18 _§

3

ADCAPeg

I
3000 4000
raw ADC

1
1000 2000

[ Apcfor

FGT RDO=2,ARM=0,APV=19 __§
—

3000 4000
raw ADC

1000 2000

[ ADC for

FGT RDO=2,ARM=0,APV=20

3

ADCApeg

o
=3

1000 2000 3000 4000
raw ADC

ADC for

FGT RDO=2,ARM=0,APV=21 _}|

ADC-ped

.
5}

0 1000 2000 3000 4000

raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=17

APV channel

= 4000 p—
5] =
s =
Q 3500 fm—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 f=——
=
=
500 fm—
=
=
==
= i
0 20
[ ADC for FGT RDO=2,ARM=0,APV=18
- 4000
5]
T
9 3500 === - - - -
<

3000

2500

2000

1500

1000

500

0

B L L L L LD LA i

[ ADC for FGT RDO=2,ARM=0,APV=19

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

" 1
60 80 100 120
APV channel

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

[[ADC for FGT

Py
]

0=2,ARM=0,APV=20_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

APV channel

1 H|'I1II'|HI'I

=
=
=
e
=
=
=
—
=
=

0

[ ADC for FGT RDO=2,ARM=0,APV=21 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

40

60 80 100 120
APV channel

... a4 .. 4 .4 E.. .40 N0

APV channel

10°

10

107

10°

10°




run_13072008 FGT_MPV_1,Timebin=2,Disc=1,asmb=1CD
Mon Mar 12 03:38:27 2012
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run_13072008 FGT_RMS 1, Timebin=2,Disc=1,asmb=1CD
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run_13072008 FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC
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run_13072008 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
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run_13072008 FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC

Mon Mar 12 03:37:18 2012
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run_13072008 FGT_MPV_1,Timebin=2,Disc=2,asmb=2BC
Mon Mar 12 03:38:28 2012
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run_13072008 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Mon Mar 12 03:39:02 2012
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run_13072008 FGT_ADC _1,Timebin=2,Disc=2,asmb=2CD

Mon Mar 12 03:37:22 2012
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run_13072008 FGT_MPV_1,Timebin=2,Disc=2,asmb=2CD

Mon Mar 12 03:38:30 2012
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run_13072008 FGT_RMS 1, Timebin=2,Disc=2,asmb=2CD
Mon Mar 12 03:39:03 2012
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run_13072008 FGT_ADC _1,Timebin=2,Disc=2,asmb=2CD
Mon Mar 12 03:37:27 2012
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run_13072008 FGT_MPV_1,Timebin=2,Disc=2,asmb=2CD
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run_13072008 FGT_RMS 1, Timebin=2,Disc=2,asmb=2CD
Mon Mar 12 03:39:04 2012
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run_13072008 FGT_ADC _1,Timebin=2,Disc=3,asmb=3BC

Mon Mar 12 03:37:28 2012
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run_13072008 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
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Mon Mar 12 03:39:08 2012

[ADC RMS for RDO=2,ARM=3,APV=0_}

=
3
2
Q
o
< =
[%] —
=
= 2
120 =
100 F=H
=
st
60 Fo
—
40 H
= B~
==
=
0

[ ADC RMS for RDO=2,ARM=3,APV=1 "}

H =
—
o R B R L R T R T T N L L L T I
0 120 =
o —
2 :
o 100 f—
= b—
o :_
80 —
ra
|
60 |-
o
EIN e o R REEE H RN K E SRR o R o 8 5 B £ SERRRE Bl an aniEl £ £ K SR R BN o EREE o ] df K eantaad F it SRR anim S 2 E B EUEEELE g § § R o SR B N SRR K B N o
o7 | "= U e cnmnnanamanadnaad b el od ke bal [nad el bamaanmnnanasacanal | Hhd iexnnnedlal faaacasaansnadianasata s snmnnananadhaaanaascmnnnnanasaseaatad
i i
9 0 120

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=2 "}

140

L
120 &

RMS (ADC-ped)

100 f
80 __
60 [
40

20 |

N N N i
o 20
APV channel

140 5

120

RMS (ADC-ped)

100 :
80 fi—
60 [
40 —

20 [r

i i
20 40 60 80 100 120
APV channel

RMS (ADC-ped)

i
120
APV channel
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